=
<

a(o @) (rad)
a(d cot(d))

102

10

Ratl
.
T

0.0F-----+H- FEHHA AR - oo 0.05f------+--t- BRI EE Y. - oo

i i 1% : - : i i i :

-1 0 1 2 3 93— ="-1 o0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

MKEIL_TT1originar

mkFit_TTNEWnoMS-genMatch-CUT2

mkFit_TToriginal-106

mkFit TTNEWMS-genMatch-CUT2

i
|
N

<4

> = 1
= IS
5 [3)
2 2
~ ~
< -
2 o
o 2
3 [e]

107}

.9 E o i ] .9 E
= E ] ITIE i : o) F
© 1.05F------ - H A - - © §| ERRRERY AL L
14 E i KK Akl i : 14 E
T ] / i iy 0.9f---=--H-=f -~ FELL PEHAA PR AR bt
0.95F------- - B T SRR - e :
0.9t : " A ; : 0.8E i i : : ]
- =3 -2 -1 0 1 2 3

-2 -1 0 1 2 3 L
TP n (PCA to beamline) TP n (PCA to beamline)

=

o p/p.)

,_.
<
L

1072

L
1.2

Ratio

pafeeeecd e LR R -4

iy

-1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


